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Introduction:

In the case of a timign re-initialisedHHO an ambiguity for the for the COUNT-C initialisation for TM radio bearers has been identified. The COUNT-C that is used in the source cell is composed of the HFN and the CFN of the source cell. After the HHO the COUNT-C that will be used in the target cell will be composed by the HFN and the CFN of the target cell. Since the HFN is incremented by wrap around of the CFN, the HFN of source and target cell will be incremented at different points in time, and hence there is an ambiguity relative to the wraparound of the CFN of the source and target CFN when initialising the HFN of the COUNT-C of the target cell by the HFN of the source cell. 

Proposed solution:

A simple rule is proposed in order to remove the ambiguity:

If at the moment when the HFN of the COUNT-C of the target cell is initialised with the HFN of the source cell the COUNT-C of the target cell would be lower then the COUNT-C of the source cell, the HFN that is used in order to initialise the COUNT-C of the target cell shall be incremented by one. The below figure is added for clarification.
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Recommendation

It is recommended to include the above proposal in the CR for security.

